XI I BIEMFECEK 255848 ()  BIEAFEG)
EERR
1 2 3 4 5 6 7 8 9 | 10| 11| 12 |&Et| E
LT 1 (0] 1 (0] (0] 3 (0] 2 1 8 —
BIEMZEE (@] 0] (@] 0] (@] 1 (@] 1 (@] 2 1
MRMLEEEKR=]| O 2 (0] 1 (0] (0] (0] (0] X 1
2 o} 2 1 3 0 0 o} 1 X 7 —
(5F] <FHRUEEKRRED>
| 9@ K3 10 | 20 | SO | 40 | 50 | 66 | 70 | 8@ | OO [ 3TI¥ | L3 | IR | BE | k&K
1 4 SEZ3 (/10| =70 _E UOBR | =i 3
2 6 WosEsE | =ik — TR |PRDP =R 4 1
3 7 WREEZ | =70 W10 —J0 =ik 4
4 8 (=R TIDAN PUEk | &l WEFR am 8 1
5 5 BESE 1837 | D0 WED 0 Fop— 3 1
6 9 AbER OBk Al TR = 3 1
7| DH BHBES =70 L= 10 2
8 2 JKBIE—EBB =Y 1] pasl:]l) —J0 8 2 1
9 8 EIIBA g=: 1] af TR 3 2 2
(BF] <HRUEEKRRED>
K& [EE= 18 |BRY| 23T |e=m| #37 |mER| = Km |BEEm| (BREF] =K
=K 7@2/3 | 31 | 118 7 1 1 7 2 2 (Z8#7] R”BE
=85= 1@1/3 5 25 1 1 [=£847)
(€2 ))
(fF] <HRUEEBKRRED>
K2 BRI 8= RS BER
KEBIE—EB 1
($5F] <BEWZFE>
| o9& K& 10 | 20 | SO | 40 | 50 | 608 | 70 | 8@ | OO || TI¥ | 3T | Im | BB | k&K
1 8 AR pah =i a1 [SE 3
2 5 =0 =10 =10 b33 i | 3
3 DH HFAR =ik =ik 3
H. DH I8 Vaet:]l] g=):1)
4 9 wa OBk am Pl =[] ah= 2 1
5 7 iz =R IR HEE Eul) 3
6 6 LY =8 210 =R —Jo| 2
7 3 0 BETR | —B = 1 1
8 2 18 =ix il =R g1 1
9 4 S Baju W1 0| BFR amR 1
BF =8
(BF] <BEWAZFE>
K2 @ 15 (1BmE| %3 |@em| %7 (mER| = Km |BEm| (MEERF] =W
F 8 33 (111 ]| 7 2 3 4 3 3 (ZE17] BR
(=24T) WO
(fF] <BEWAFE> (€2 ))
K2 BRI TEIhE RS BER
Er




